
S3

Adding 3 to 8 times c gives twenty-three.2)

7 multiplied by the sum of r and 3 gives 8.3)

The total of 32 and quarter of b gives 10. 4)

The ratio of a minus 4 to 3 is 6.5)

9 minus 2 times x equals 15.6)

10 added to 6 times h gives 7.7)

28 subtracted from twice of d equals 6 multiplied by 

d. 

8)

17 reduced by three times s is 22. 9)

The product of 6 and the sum of t and 9 is 31.10)

4 subtracted from the ratio of u to 5 is same as 11. 1)

Translate each sentence into a two-step equation.

Translating Sentences into Two-Step Equations

Teaching Resources @ www.tutoringhour.com

Preview

Become a member to unlock 
unrestricted access to both printable 

and online worksheets.

www.tutoringhour.com


